Potencias de 10 (G)

Calcule los siguientes cocientes.

5,660,001

8,805 = 0,001

9,823 = 10

8,607 =10

0,989 --0,01

9,902 = 100

3,723+ 100

9,062+ 1000

9,828 0,01

1,177 =1

9,599 =-1000

3,540,001

0,331+0,01

2,115+ 1

3,016 = 10

3,267 =100

7,288 + 0,01

4,627 = 100

1,763 = 100

9,472 +0,1
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Potencias de 10 (G) Respuestas

5,66+ 0,001
5.660
8,805+ 0,001
8.805
9,823+ 10
0,9823
8,607 + 10
0,8607
0,989 0,01
98,9
9,902 + 100
0,09902
3,723+ 100
0,03723
9,062 -+ 1000
0,009062
9,828 0,01
982,8
1,177+ 1
1,177

Calcule los siguientes cocientes.

9,599 + 1000
0,009599
3,540,001
3.540
0,331+0,01
33,1
2,115+ 1
2,115
3,016 10
0,3016
3,267+ 100
0,03267
7,288 + 0,01
728,8
4,627 = 100
0,04627
1,763 = 100
0,01763
9,472 +0,1
94,72
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